l 1= #E$25E (2B) Tube Fitting (Black)

crofcan

1l
gl%ight BE BAz(Unit): m/m
Model Tulbeﬁlia. oP A R H L © B @ Mass(g) | Orifice
PC4-M5 35 | M5X0.8 159 | 176 | 3 | 32 | 3
PC4-M6 . g |39 |Mexto] 10 | o [125]181] 3 [46 [ 3
PC4-01 7 [ prs | 10 128 | 163 | 3 | 56 | 3
- PC4-02 96 | PT14 | 14 129 | 177 | 3 |128 | 3
2D PC6-M5 35 | M5x08| 8 176 | 194 | 2 | 46 | 2
PC6-M6 37 | mex10] 10 143 | 185 | 3 | 48 | 3
A PC6-01 6 10 | 7 [PTis| 10 | 142 [158 [193 ]| 4 [ 56 | 4
' PC6-02 96 | PT1/4 | 14 139 | 187 | 4 | 116 | 4
OH F==— PC6-03 96 | PT3/8 | 17 149 | 197 | 4 | 228 | 4
BRIDE Fls PC8-01 7 | PTs | 14 24 | 275 5 | 12 5
P PC8-02 96 | PT1/4 | 14 203 | 242 | 6 | 132 | 6
< Lol ———= | & | 136 18.5
| PC8-03 96 | PT3/8 | 17 194 | 242 | 6 | 222 6
| PC8-04 12 | PT12 | 21 192 | 252 | 6 | 404 | 6
\R PC10-01 7 | PT8 | 17 | 206 | 261 | 296 | 5 | 194 | 5
PC10-02 o |16y (28 [PT14 [ 17 203245201 [ 7 [ 20 7
PC10-03 96 | PT3/8 | 17 | 157 | 21 | 258 | 8 | 212 | 8
<L PC10-04 12 [PT12 | 21 [ 206 [ 199 | 259 | 8 | 37 8
R PC12-02 96 | PT1/4 | 21 30 |348 | - | 35 7
PC12-03 12 | 196 |96 | PTa/8 | 21 | 232 | 274 | 322 | - [324| 9
9"5;;}%;%’;%" type PC12-04 12 | PT12 | 21 262 | 322 | - | 402 | 9
(e Straight
P
Model Tu%e[;!ia. oP A R H L c B G |Mass(g)| Orifice
PC4-M5 35 |M5x08| 8 | 124 | 159 | 176 | 3 | 3.2 3
PC4-M6 q g 39 |Mexto] 10 |124 [125 [181 | 3 [ 46 3
opP PC4-01G 75| G1/8 | 10 | 102 | 13.1 | 16.8 3 3.2 3
@b PC4-02G 95 | G144 | 14 | 124 | 120 [176 | 3 [134 | 3
] PC6-M5 35 |M5x08| 8 | 142 [ 176 [ 194 | 2 | 46 2
. PC6-M6 37 |Mex10| 10 | 142 [ 143 [185 | 3 | 48 3
OH : PC6-01G 6 10 [75 | cu8 | 10 [ 142 | 16 | 198 | 4 | 44 4
‘\T : —— |0 PC6-02G 85 | G14 | 14 |142 [ 133 [176 | 4 | 64 4
e o PC6-03G 96 | G3/8 | 17 [142 [ 149 [197 | 4 | 24 4
4 L N PC8-01G 75| G18 | 14 |185 |242 | 28 | 5 | 14 5
[ PC8-02G 8 |136 | 85| G1a | 14 |185 188 [231 | 6 [ 128 | 6
' \\B PC8-03G 96 | G38 | 17 | 185 | 194 |242 | & |226 | 6
PC10-02G 95 | G14 | 17 | 206 | 246 |203 | 7 [204a | 7
PC10-03G | 10 | 167 |96 | G3® | 17 | 206 | 21 |258 | 8 | 21 8
PC10-04G 11 | 612 | 21 206 [ 194 [249 | &8 [364 | s
<L PC12-02G 95 | G4 | 21 232 [ 209 [347 | - |36 | 7
R PC12-03G | 12 [196 | 11 | G3/8 | 21 | 232 [ 257 [312 | - [378 | o
Metric thread type PC12-04G 11 | ez | 21 232 [257 [312 | - | 49 9
AHIFEI

NI: 2 EIREE

NI:Release Ring (Metallic Body)




T2 HEIETA (E) Tube Fitting (Ivory)

1
2y =2eme......
Model Tu%egia' oP A R H L cC B @ Mass(g) | Orifice
PC4-M5-W 35 | M5X08 159 | 176 | 3 | 32 | 3
PCAMEW | g |39 [Mexiol 10 | . |125[181| 3 |46 | 3
oP PC4-01-W 7 | pTis | 10 128 |163 | 3 | 56 | 3
@D, PC4-02-W 96 | PT1/4 | 14 129 | 177 | 3 | 128 | 3
- - PC6-M5-W 35 |M5x08| 8 176 | 194 | 2 | 48 | 2
] PC6-M6-W 3.7 | Mex10] 10 143 [ 185 | 3 [ 48 | 3
i %1 "’) PC6-01-W 6 10 | 7 |pTus| 10 | 142 158|193 | 4 | 56 | 4
— H e N— PC6-02-W 96 | PT1/4 | 14 139 | 187 | 4 [ 116 | 4
e o =7 PC6-03-W 96 | PT3/8 | 17 149 [ 197 | 4 [228| 4
N _1:_‘L_ o N—y PC8-01-W 7 | pTU8 | 14 24 275 | 5 | 12 5
I - PC8-02-W 96 | PT1/4 | 14 203 | 242 | 6 |132| 6
' R PC8-03-W 8 | 138 o [ Prae | 17 | °° [19a |242 | 6 |22 o
PC8-04-W 12 [ pPT12 | 21 192 [ 252 | 6 | 404 | 6
PC10-01-W 7 | pTus | 17 [ 206 [ 261 [206 | 5 [194 | 5
o PC1002w | | |96 |PT1/4 | 17 |203 [243 [201 | 7 [ 20 7
@/' <L PC10-03-W 96 | P38 | 17 [157 | 21 [258 | 8 [212| 8
% R PC10-04-W 12 [PT12 | 21 [ 206 [ 199 [ 259 | 8 | 37 8
© Metric thread type PC12-02-W 96 | PT1/4 | 21 30 | 348 | - 35 7
NEIFEIR PC12-03W | 12 | 196 |96 | PT3/8 | 21 | 232 [274 [ 322 - [324| o
PC12-04-W 12 [ PT12 | 21 262 | 322 | - |402| o
NI Straight
m CAD B (Unit): m/m
Model |T%55% gp | A | R | H | L | c | B | G |Vesoorice
PC4-M5-NI 35 |M5x0.8 159 | 176 | 3 | 4.1 3
PC4-M6-NI 3.9 | mex1.0] 10 125 |181 | 3 |55 | 3
op PC4-01-NI 4 8 7 {pris | 10 | 2% [128 | 163 | 3 7 3
o PC4-02-NI 96 | PT1/4 | 14 120 [ 177 ] 3 [137] 3
I~ m PC6-M5-NI 35 [M5x0.8| 8 176 | 194 | 2 [ 54 | 2
: PC6-M6-NI 3.7 [Mex1.0 | 10 143 [ 185 | 3 [ 56 | 3
H _% \""; PC6-01-NI | 6 | 10 | 7 |PT18 | 10 |142 [158 [193 | 4 |64 | 4
; ™ o -— PC6-02-NI 96 | PT1/4 | 14 139 | 187 | 4 [124 | 4
o : @ — PC6-03-NI 9.6 | PT3/8 [ 17 149 [197 [ 4 [236] 4
I I PC8-01-NI 7 | pTs | 14 24 |275| 5 [143]| 5
PC8-02-NI 96 | PT1/4 | 14 203 | 242 | 6 [155 | 6
| ——=" | 8 | 136 18.5
R PC8-03-NI 96 | PT3/8 | 17 194 | 242 | 6 |245]| 6
PC8-04-NI 12 [ PTi2 | 21 192 [ 252 | 6 [427 | 6
PC10-01-NI 7 | pTus | 17 | 206 [ 261 [ 206 | 5 [232] 5
PC10-02-NI 96 | PT1/4 | 17 | 203 | 243 [ 201 | 7 [238 | 7
< pcrooan| O | "7 o6 [Pras | 17 | 157 | 21 | 258 | & | 25 8
R PC10-04-NI 12 [PT12 | 21 [ 206 [ 199 | 259 | 8 [408 | 8
Metric thread type PC12-02-NI 96 | PT1/4 | 21 30 34.8 - 42 7
ALESY PC12-03-NI| 12 | 196 |96 | PT3/8 | 21 | 232 [274 [322 [ - [398 | 9
“PC12-04-NI] 12 | P2 | 21 262 | 322 | - [476 | 9
PC16-03-NI 96 | PT3/8 | 24 329 [359 | - |[546| 11
———— 16 | 23 236
PC16-04-NI 12 [ PT12 | 24 312 372 | - [e02] 13

NI: £ ERRREE

NI:Release Ring (Metallic Body)




HE

| ros] oo ] o

BE 81 (Unit): m/m
Model | ™5™ @p | A| R | H | L | C | B | G |V orifce
PC4-M5-W 35 |M5x0.8| 8 159 | 176 | 3 | 32 3
g; PC4-M6-W , g [ 39 |Mexto]| 0 | 125181 | 3 | 46 3
PC4-01G-W 75 | G1s | 10 131 | 168 | 3 | 32 3
I~ PC4-02G-W 95 | G1/4 | 14 129 | 176 | 3 | 134 | 3
== PC6-M5-W 35 |M5x0.8| 8 176 | 194 | 2 | 46 2
OH = ) PC6-M6-W 3.7 [Mex1.0| 10 143 | 185 | 3 | 48 3
1’ : T —lo PC6-01G-W | 6 10 |75 | G1/8 | 10 |[142 | 16 |[198 | 4 | 44 4
T @ PC6-02G-W 85 | G1/4 | 14 133 |176 | 4 | 64 4
« I PC6-03G-W 96 | Gas | 17 149 [197 | 4 | 24 4
|r \ PC8-01G-W 75 | G1s | 14 242 | 28 5 14 5
R PC8-02GW | 8 | 136 |85 | G1/4 | 14 | 185 [ 188 |231 | 6 |128 | 6
PC8-03G-W 96 | Gas | 17 194 (242 | 6 | 226 | 6
PC10-02G-W 95 | G4 | 17 246 (293 | 7 |204 | 7
PC10-03G-W| 10 |[167 |96 | Gas | 17 | 206 | 21 |258 | 8 | 21 8
< PC10-04G-W 1 | 612 | 21 194 (249 | 8 |364 | 8
R PC12-02G-W 95 | G1/4 | 21 209 [347 | - |356 | 7
y&%ﬂ%&gé?td type PC12-03G-W| 12 | 196 | 11 | G3/8 | 21 | 232 [257 |312 | - |378 | 9
PC12-04G-W 1 | 612 | 21 257 | 312 | - 49 9
PC
G+NI Straight
m CAD BE(7(Unit): m/m
Model |™%5™ gp | A| R | H | L | c | B | G |Masio)| Orifce
PC4-M5-NI 35 |M5x0.8| 8 159 [ 176 | 3 |4.1 3
PC4-M6-NI 3.9 |Mex1.0| 10 125 | 181 | 3 |55 3
1 4 8 124
opP PC4-01G-NI 75 | G1/8 | 10 131 | 168 | 3 | 4.1 3
@b PC4-02G-NI 95 | G1/4 | 14 129 | 176 | 3 [14.3 3
I~ PC6-M5-NI 35 |M5x0.8| 8 176 | 194 | 2 |54 2
g PC6-M6-NI 3.7 |Mex1.0| 10 143 | 185 | 3 |56 3
OH : PC6-01G-NI | 6 10 (75| G18 | 10 |[142 | 16 |[198 | 4 |5.2 4
‘\{T : —— _|o PC6-02G-NI 85 | G1/4 | 14 133 | 176 | 4 |72 4
= @ PC6-03G-NI 96 | Gas | 17 149 | 197 | 4 |[24.8 4
» _,___|T‘I_' ) PC8-01G-NI 75 | s | 14 242 | 28 5 [16.3 5
[ PC8-02G-NI | 8 | 136 |85 | G1/4 | 14 | 185 | 188 |231 | 6 [15.2 6
| \\B PC8-03G-NI 96 | Gas | 17 19.4 | 242 | 6 [24.9 6
PC10-02G-NI 95 | G4 | 17 246 | 203 | 7 242 7
PC10-03G-NI| 10 | 167 |96 | Ga/s | 17 | 206 | 21 |258 | 8 [24.8 8
PC10-04G-NI 11 | 612 | 21 194 | 249 | 8 [40.2 8
<L PC12-02G-NI 95 | G14 | 21 299 (347 | - | 43 7
R PC12-03G-NI| 12 | 196 | 11 | Gas | 21 | 232 | 257 312 | - [452 9
Metric thread type PC12-04G-NI 1 | 612 | 21 257 | 312 | - |56.4 9

GELED G EHES (PFEHS) G:BSPP Thread
NI:Release Ring (Metallic Body)

NI: & BIREHR

AHIFENK




